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	Symbol:
	Meaning:

	AD
	aggregate demand

	AE
	aggregate expenditures

	SRAS
	short run aggregate supply

	LRAS
	long run aggregate supply

	C
	consumption

	Dm
	demand for money

	Dd or D$
	demand for US dollars

	D
	demand of an individual product 

	DI
	disposable income

	FE
	full employment (of GDP)

	G
	government expenditures

	GDP
	gross domestic product

	Ig
	gross investment by businesses

	Y
	income

	i  or ir
	interest rate (%)

	ID
	investment demand for funds

	MB
	marginal benefit

	MC
	marginal cost

	MPC
	marginal propensity to consume

	MPS
	marginal propensity to save

	Xn
	net Exports (Exports “minus” Imports)

	nir
	nominal interest rates

	SRPC
	Short-run Phillips Curve 

	LRPC
	Long-run Phillips Curve 

	P
	price

	PL
	price level

	PPC
	production possibilities curve or PPF = prod. poss. frontier

	Q
	quantity (individual products or aggregate q. of GDP)

	GDPr
	real Gross Domestic Product

	rir
	real interest rates

	S
	saving

	Savings
	savings (use “S” for individual product Supply)

	S
	supply of an individual product

	Sm
	supply of money

	Sd or S$
	supply of US dollars

	T
	taxes


Do you have the sheet with 16 graphs? They are : PPC, Business cycles, Consumption Function, Savings Function, Consumption and Savings Link, Investment Demand, 3 Aggregate Models, Money Market, Loanable Funds Market, Bond Market, Phillips Curve, Laffer Curve, Dollar Market, and the Euro Market. Know how to draw them! Especially how to label their axes!
Circular Flow:
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Production possibility Curve:
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On the production possibilities frontier shown, which point or points are NOT possible for this economy to produce?


a.
D


-b.
E, F


c.
A, B, C


d.
D, E, F
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On the production possibilities frontier shown, the opportunity cost to the economy of getting 10 additional roller blades by moving from point A to point B is


a.
15 bikes.


b.
10 bikes.


-c.
 5 bikes.


d.
It is impossible to know the opportunity cost without knowing the cost of the resources used to produce the additional roller blades.



	Positive vs. Normative Statements: positive is fact , normative is an opinion or value judgement


	Which of the following is an example of a normative statement?

a. If the price of a product decreases, quantity demanded increases.

-b. Reducing tax rates on the wealthy would be good for the country.

c. If the national saving rate were to increase, so would the rate of economic growth.

d. All of the above are normative statements.
	Which of the following is an example of a positive statement?

a. If welfare payments increase, the world will be a better place.

-b. Prices rise when the government prints too much money.

c. Inflation is more harmful to the economy than unemployment.

d. The benefits to the economy of improved equity are greater than the costs of reduced efficiency.


Law of Demand:

People will demand more at lower prices and less at higher prices.
What is the difference between a change in demand and a change in quantity demanded?

Change in QD= a response to a change in price (movement along the line) A change in Demand is when people will demand more or less at every price (movement of the line)
Law of Supply:
Suppliers will supply more at higher prices and less at lower prices.
What is the difference between a change in supply and a change in quantity supplied?

Change in QD= a response to a change in price (movement along the line) A change in Demand is when people will demand more or less at every price (movement of the line)

------------Reasons for Changes in Demand------------
N=Number of Consumers
I= Income
C= Compliments – When demand for one good causes an increase in demand for another
E= Expectations
S= Substitutes – When demand for one good causes a decrease in demand for another
T= Taste
------------Reasons for Changes in Supply------------
T= Technology
I= Inputs
N= Number of Producers
G= Government Regulations
Changes in Supply and Demand vs. Changes in Quantity Supplies and Quantity Demanded

	Price Increased

First?
	Price Decreased First?
	Demand Increased First?
	Demand Decreased First?
	Supply Increased First?
	Supply Decreased First?

	[image: image6.png]








	
	
	
	
	

	QD = ↓
	QD = ↑
	D = ↑
	D = ↓
	S = ↑
	S = ↓

	QS = ↑
	QS = ↓
	EP = ↑
	EP = ↓
	EP = ↓
	EP = ↑

	
	
	EQ = ↑
	EQ = ↓
	EQ = ↑
	EQ = ↓

	= S​​​​urplus
	=Shortage
	QS = ↑
	QS = ↓
	QD = ↑
	QD = ↓

	Choice

“A”
	Choice

“-”
	Choice

“B”
	Choice

“C”
	Choice

“-”
	Choice

“D”


	Event:
	Product to show the graph change:
	Graph Choice: (A,B,C, D)

	 Ford Motor Company announces a 50% worker reduction rate at Ford sedan factories.
	Ford sedans
	D

Supply ↓

	 The US Center for Disease Controls (CDC) releases a news bulletin showing that eating raw onions can prevent certain cancers.
	Onions
	B

Demand 

	Gasoline prices rise to $6.00 a gallon due to OPEC

boycotts.
	Bicycles
	B

Demand ↑ (Substitute)

	Consumer Reports magazine predicts that major price cut are coming for Wii game consoles
	Wii game consoles
	C

Demand ↓ (Now due to consumer expectations)

	 Crude oil sells for $150 a barrel, a new high price.
	All plastic products


	D

Supply ↓ (Increased input costs)

	  A new artist has a huge hit song on radio and YouTube
	Downloads for that singer
	B

Demand ↑

	The federal government requires that all US cars use some forms of ethanol fuels made from corn
	Wheat 
	D

Supply ↓ (Farmers will grow corn because it is more profitable)

	Farmers provide a huge oversupply of chickens to the US markets
	Beef
	C

Demand ↓ (Substitute)

	Fast foods companies collude to set the price of hamburger sandwiches at $10 per sandwich
	French Fries
	C

Demand ↓ (Compliment)

	Bell bottom blue-jeans become fashionable again
	Bell bottom jeans
	B

Demand ↑

	McDonalds increases the price of all their value meals by one dollar.
	McDonalds Value Meals
	A

↑ Quantity Demanded

	Where do interest rates come from?


Real interest = nominal interest rate – the inflation rate  or, nominal = real + inflation

Loanable Funds Model: an classical, organic look at the cause of interest rate changes.

	
	- The market where savers and borrowers exchange loanable funds (QLF) at the real interest rate (ir%). 

- Demand for loanable funds comes from borrowers (households, businesses, government and the foreign sector).

- Supply for loanable funds comes from savers (households, businesses, government and the foreign sector).

	
	- Borrowers make up the demand for loanable funds.

- More borrowing = more demand for loanable funds (shift demand → DLF2). This increases the quantity of loanable funds to q2 and raises interest rates to r2.

- Less borrowing = less demand for loanable funds (shift demand ← DLF1). This decreases the quantity of loanable funds to q1 and lowers interest rates to q1.

	
	- Savers make up the supply for loanable funds.

- More saving = more supply of loanable funds (shift supply → SLF2). This increases the quantity of loanable funds to q2 and lowers interest rates to r2.

- Less saving = less supply for loanable funds (shift supply ← SLF1). This decreases the quantity of loanable funds to q1 and raises interest rates to r1.


According to the Loanable Funds Model, interest rates can be explained by the amount of money being saved and borrowed at any given time in the market. Interest rate changes will affect business investment (Ig) 

	
	
Investment Demand Model 

or the 
Time Value of Money Model


	Where do interest rates come from (cont.)?


Real interest = nominal interest rate – the inflation rate  or, nominal = real + inflation

Money Market Model: a Keynesian, mechanical look at the cause of interest rate changes.

	
	- This is the market where the Federal Reserve Bank changes the supply of money.

- The supply of money is vertical because there is a fixed amount of money in the economy at any given time.

- The demand for money has a negative slope because people will demand less money at higher interest rates and more at lower interest rates.

	
	Easy Money Policy: an attempt to stimulate the economy (raise AD) by increasing the money supply (q1). They do this by conducting the open market operation of BUYING BONDS! 

When the Fed buys bonds from the public, it floods the market with the cash used to pay for the bonds, thus increasing the money supply and reducing interest rates (r1). 

	
	Tight Money Policy: an attempt to slow the economy (lower AD) by decreasing the money supply (q1). They do this by conducting the open market operation of SELLING BONDS! 

When the Fed sells bonds to the public, it starves the market of the cash used to pay for the bonds, thus decreasing the money supply and increasing interest rates (r1). 


A fall in the interest rate in the money market….Leads to an increase in savings and investment.

	
	


This will also affect the Investment Demand model!
What is GDP?
Gross Domestic Product: a measure of all the final goods and services which a nation produces within its borders in one year. It is a measurement of output.

What is GNP?

Gross National Product: the dollar value of all final goods and services produced in a year with labor and property supplied by a country’s residents. A measure of income!
What are the four components to GDP?

C= Also called the private sector. Represents purchases of finished goods and services. It is the largest sector of the economy and its basic unit is the household 
G=  Government purchases of products and services. Also called the public sector. This includes all local, state, and federal levels of government.
Ig= Includes factory equipment maintenance, new factory equipment, construction of housing, and unsold inventory. Made up of proprietorships, partnerships, and corporations. 

Xn= Exports (dollars in) minus Imports (dollars out). Includes all consumers and producers outside the US. It represents the difference between the value of goods and services sold and purchased abroad. It is usually a negative number representing a trade deficit. More is imported (money going out) than exported (money coming in).
What is excluded from GDP?

Intermediate Products, Second Hand Sales, Non-Market Transactions, Underground Economy, Stock/ Equity/ Securities purchases, Financial Transactions between banks and businesses

GDP to Consumption

· GDP - Depreciation =

· Net Domestic Product 

· NDP – Indirect Business Taxes 
- Net Foreign Factor =

· National Income

· NI – Social Security Payments 
– Corporate Income Tax Paid 
– Undistributed Corporate Profits 
+ Transfer Payments Received by Individuals =

· Personal Income

· PI – Personal Taxes Paid 
+ Credit Card Expenditures =

· Disposable Income

· DI – Savings 
- Credit Card Payments =

· Consumption
Remember this? It was FUN! >>>>>>>>>>>>

What is the CPI: a measurement of inflation or the cost of living. Also called the “market basket.” It reports on price changes for about 90K items in 364 categories and 85 areas around the US.
What is the CPI formula? (Y2-Y1)/Y1= The CPI Rate; *100 to get the %
What are the components of the business cycle?
E= Expansion
C= Contraction
P= Peak
T= Trough
What is the rule of 70? It show how long it will take your investment to double with interest.
You take 70 and divide it by the interest rate. Ex: Most savings accounts earn an interest rate of 2%. How long will it take to double? 70/2=35 years! 
--------------------Fiscal Policy vs. Monetary Policy--------------------

Fiscal Policy: stabilizing the economy through taxation and government spending. LEGISLATIVE BRANCH For example: automatic stabilizers like: Social Security, Medicare, Medicaid, Welfare, unemployment.  *Expansionary/Contractionary
Monetary Policy: stabilizing the economy through manipulation of interest rates and the money supply. THE FEDERAL RESERVE For Example: Federal Funds Rate, Discount Rate, Open Market operations, Reserve Requirement   *Easy Money, Tight Money
Identify the statements as belonging to:

Classical School (this includes Neo-Classical, Supply-Sider)

Keynesian School (this includes Neo-Keynesian and “Fiscal Policy”)

Monetary School (Central Bank Policy, Federal Reserve Policy)

1. If the economy is suffering from excessive inflation, cut government job programs.

Keynesian

2. Cut federal job programs in order to limit all government participation in economics.

Classical

3. Raising taxes won’t happen, so manipulate the value of money and its uses.

Monetary

4. Welfare programs are an economic injection and stabilizer because money will be put into a struggling economy.

Keynesian

5. A recession can be fought by the government buying back government bonds.

Monetary

6. The key to providing full employment stability in the economy is to allow businesses to control product supplies.

Classical

7. Giving workers and consumer federal safety nets will provide more economic stability.

Keynesian

8. Government can best control the health of the economy by regulating banks and manipulating interest rates.

Monetary

9. If you need to help the economy, have the government kick off a low level of inflation by increasing the overall demand for goods and services.

Keynesian

10. You can best help the poor by first helping the rich build a bigger economy.

Classical

11. Government’s crucial role is to stop monopolies from forming.

Classical

12. Always cut taxes as a goal to spur economic activity and limit government involvement.

Classical

13. Create, or reduce, aggregate demand through job programs and federal spending.

Keynesian

14. Sell government bonds in order to slow inflation trends.

Monetary
15. Competition will tend to full employment levels, most of the time.
Classical
----Counter Cyclical Policies: Keynesian Fiscal Policy vs. Monetary Policy (Fed)----
In the early 21st Century, here in the USA:

An efficient, “full employment” economy will probably have:




 1.  an annual unemployment rate of ___4-5_ %.



 2.  an annual inflation rate of _2-3___ %.

If the economy goes into recession:



 3.  the real GDP will __down___ for at least ___6__ months.



 4.  the unemployment rate will go to __5___ % or more.



 5.  the inflation rate will probably go to __2___ % or less.

If Congress enacts Keynesian Fiscal Policies to attempt to slow/stop the


recession, then:

6.  the policy will try to improve __C___, or __G__ (parts of AD)



 7.  Congress will ___LOWER__ federal taxes.



 8.  Congress will __RAISE___ job and spending programs.



 9.  The federal budget will probably create a ___DEFICIT_______. 

10. Due to changes in Money Demand, interest rates will _RISE___.



(Crowding out might occur, but Keynesians don’t care.)

If the Federal Reserve employs Monetary Policy options to slow/stop the

recession, then:



11. the policy will target improvement in _Ig____ (part of AD).



12. The Fed will target a ___LOWER_FED FUND RATE _ _____ _____ _____.



13. The Fed can __LOWER___ the __DISCOUNT RATE________ _____.



14. The Fed can __BUY___ bonds (Open Market Operations).



15. The Fed can (theoretically) lower the _RESERVE REQUIREMENT____ _____, but 

probably won’t because it is too complex for the banks.



16. These Fed policies will _LOWER____ the interest rates through changes in the Money Supply.



17. These options should __INCREASE___ Ig.
If the economy suffers from too much demand-pull inflation or cost-push 

inflation, then 



18. the unemployment rate will go to ___4__ % or less.



19. the inflation rate will probably go to __4___ % or more.

If Congress enacts Keynesian Fiscal Policies to attempt to slow/stop the

inflation problems, then:



20. the policy will try to decrease __C___, or _G___ (parts of AD)



21. Congress will __RAISE___ federal taxes.



22. Congress will ___LOWER__ job and spending programs.



23. The federal budget will probably create a _SURPLUS_________. 

24. Due to changes in Money Demand, interest rates will __FALL__.



If the Federal Reserve employs Monetary Policy options to slow/stop the

inflation problems, then:



25. the policy will target decreases in __Ig___ (part of AD).



26. The Fed will target a __RAISE FED FUND RATE___ _____ `_____  _____.



27. The Fed can _RAISE____ the _____DISCOUNT RATE_____ _____ .



28. The Fed can __SELL___ bonds (Open Market Operations).



29. The Fed can (theoretically) raise the _RESERVE REQUIREMENT____ _____, but 

probably won’t because it is too complex for the banks.



30. These Fed policies will __INCREASE___ the interest rates through 




changes in the Money Supply.



31. These options should __DECREASE___ Ig.

What is M1, and M2? Money Supply 1 used in monetary policy; includes cash and checkable deposits. Used primarily as a medium of exchange. Money Supply 2 includes savings and serves as a store of value.
	


	The Aggregate Model looks at the relationship between price levels and output of the economy. The LRAS is vertical because it assumes in the long-run, all of our resources are being fully employed. The SRAS is sloped because producers can respond to price levels in the short run.

PL = Price Levels

GDPr = Real Gross Domestic Product

LRAS = Long Run Aggregate Supply

SRAS = Short Run Aggregate Supply

AD = Aggregate Demand

Yf = Full employment of resources for the year

P = Price Equilibrium

	Recessionary Gap





A recessionary gap exists when equilibrium exists 
below full employment.
	Inflationary Gap



An inflationary gap exists when equilibrium exists 
above full employment.


VVVVVVVVVVVVVVVVVVVVVVVV                    VVVVVVVVVVVVVVVVVVVVVVVV

	To fix a recessionary gap you need to 
increase AD (↑C, Ig, G, or Xn) which shifts AD→






or you can increase the SRAS by ↓input prices, ↑productivity or ↓taxes and gov. regs.
	To fix an inflationary gap you need to
decrease AD (↓C, Ig, G, or XN) which shifts AD←




or you can decrease the SRAS by ↑input prices, ↓productivity or ↑taxes and gov. regs.

	


	The Phillips Curve demonstrates an inverse relationship between inflation and unemployment in the short-run.

π% = Price Inflation

u% = Unemployment

LRPC = Long-run Phillips Curve which exists at un%

un% = the natural rate of unemployment (4-5%)

SRPC = Short-run Phillips Curve shows the trade-off between u% and π%.

In the long-run, inflation and unemployment act independently of each other. This is why the LRPC is a vertical line. 


How the SRPC and the LRPC work together.

	
	
	

	The government enacts expansionary policy to reduce unemployment.
	In the short-run, unemployment is decreased but this causes inflation to increase. Move from “A” to “B”.
	In the long-run, this new higher rate of inflation becomes the new expected rate of inflation and the economy returns to the natural rate of unemployment. “C”


	
	
	

	The government enacts contractionary policy to reduce inflation.
	In the short-run, inflation is decreased but this causes unemployment to increase. Move from “A” to “B”.
	In the long-run, this new lower rate of inflation becomes the new expected rate of inflation and the economy returns to the natural rate of unemployment. “C”


The SRAS and the SPRC are related. Movement along one will show as up as mirror movement along the other.

Increase in AD = Up/Left movement along the SRPC

C, Ig, G, or Xn ↑, AD→, GDPr↑ and PL↑, causing u%↓ and π%↑, up/left movement along SRPC

	
	


Decrease in AD = Down/Right movement along the SRPC

C, Ig, G, or Xn ↓, AD←, GDPr↓ and PL↓, causing u%↑ and π%↓, down/right movement along SRPC

	
	


The SRAS and the SPRC are related. Movement of one line will show as up as mirror movement of the other line.

Rap Video: ←/ \→ or ←/ \→ 
SRAS → = SRPC ←
↓input prices, ↑productivity or ↓taxes and gov. regs shifts SRAS→, GDPr↑ and PL↓ causing u%↓ and π%↓, SRPC← (Disinflation: when inflation and unemployment both fall together)
	
	


SRAS ← = SRPC→
↑input prices, ↓productivity or ↑taxes and gov. regs shifts SRAS←, GDPr↓ and PL↑ causing u%↑ and π%↑, SRPC→ (Stagflation: when inflation and unemployment go up together)

	
	


So movement along the SRPC curve shows a change in AD, movement of the SRPC shows a change in AS.

Types of unemployment:
Frictional: caused by workers who are between jobs. Short term and will suffer little economic hardship.

Cyclical: caused by swings in the business cycle. 
Structural: caused by a fundamental change in the operations of the economy which causes a reduction in the demand for workers and their skills. This is a more serious type of unemployment! 

Technological: caused when workers are replaced by machinery. 
What are unions? an organization of employees formed to bargain with the employer.
How do they use collective bargaining? the idea that by uniting, their combined voice carries more weight so that they can negotiate better wages.
Trade:

What is the basis for international trade? Comparative advantage – the idea that one nation can produce something at a lower opportunity cost than another

Contrast Comparative to absolute advantage: comparative means they can produce it cheaper, absolute means they can produce more.

--------------------Currencies and International Trade Changes--------------------
· If people in the US want more of Europe’s goods or services or investments, then:

S dollars will _____ and the D euros… will _____.

· If people in the US want less of Europe’s goods or services or investments, then:                                                                     

S dollars will _____ and the D euros… will _____.

· If people in Europe want more of the US’s goods or services or investments, then:

S euros…. will ​​​​_____ and the D dollars will _____.

· If people in Europe want less of the US’s goods or services or investments, then:

S euros…. will _____ and the D dollars will _____.

--------------------Capital Flow and the Balance of Payments--------------------
	Current Account Assets

Export ($ coming in).

Interest and dividend payments foreigners pay us.

Transfers and foreign aid from other nations.


	Current Account Debits

Imports ($ going out).

Interest and dividend payments we pay foreigners.

Transfers and foreign aid to other nations.

	(Financial)  Account Assets

U.S. sales of assets to foreigners.


	(Financial)  Account Assets
U.S. purchase of assets from foreigners.



	Reserve Account Assets

Foreign Currency Held by the U.S.


	Reserve Account Debits

Dollar Holdings by Foreigners


Remember: that the Current and Financial Account must balance!

Paris Hilton buys a majority share in Korean electronics manufacturer Samsung.     

DEBIT, FINANCIAL

Queen Elizabeth II imports a Dodge Viper to the U.K.     

CREDIT, CURRENT

Bank of America purchases $200 million worth of Euros.     

DEBIT, FINANCIAL

Homer Simpson buys a new Ferrari Enzo.     

DEBIT, CURRENT

The Malaysian government purchases a new Boeing 787.     

ASSET, CURRENT

The Fed sells $4 billion dollars worth of dollars to the foreign exchange market.     

RESERVES, DEBIT

---------------------Determining Comparative Advantage--------------------
	Australia’s PPC


[image: image4]
	New Zealand’s PPC


[image: image5]


Suppose that Australia and New Zealand do not trade with each other. The figure above and to the left shows Australia’s production possibilities curve and the figure to the right shows New Zealand’s production possibilities curve. 

	Australia
	
	New Zealand

	Machines – Food

20 – 20
	Opportunity Cost
	Machines – Food

10 – 20

	1 Machine → 1 Food

1 Machine ← 1 Food
	1:1 Ratio
	1 Machine → 2 Food

½ Machine ← 1 Food


· What was the opportunity cost of 1 ton of food in Australia?
one thousand machines
· What was the opportunity cost of 1 ton of food in New Zealand?
500 machines
· What was the opportunity cost of 1 thousand machines in Australia?
1 ton of food
· What was the opportunity cost of 1 thousand machines in New Zealand?
2 tons of food
· Which country has a comparative advantage in producing food? Why?
New Zealand – they have a lower opportunity cost in producing food than Australia.
· Which country has a comparative advantage in producing machines? Why?
Australia – they have a lower opportunity cost in producing machines than New Zealand.
· If trade between the two countries opens, which good does Australia import from New Zealand? 
food
· If trade between the two countries opens, which good does New Zealand import from Australia? 
machines
· Does Australia gain from this trade? Explain why or why not.
Yes. They can import cheaper from NZ than it can produce themselves.
· Does New Zealand gain from this trade? Explain why or why not.
Yes.  They can import cheaper from Aus than they can produce themselves.
· Suppose that new technology becomes available so that the production of machines doubles in Australia and New Zealand. Now which good does Australia import from New Zealand?
Stays the same. The ratios do not change! Remember the difference between absolute and comparative advantage.
P





Q





P





S





●2





●2





●1





D





Q





●1





●2





●2





S





D





P





Q





D1





D2





D2





D1





S





Q





P





Q





P





S2





S1





D





Q





P





D





S2





S1





20





15





10





5





5





15





20





25





10





Food (tons)





Machines (thousands)





20





15





10





5





5





15





20





25





10





Food (tons)





Machines (thousands)





q





r








SLF








DLF








QLF





ir%





SLF1








r2





r1





q1





q2





q





r








DLF2








DLF1








DLF








SLF








ir%





QLF





r1





r2





q2





q1





SLF








SLF2








r








DLF








ir%





QLF





q





ir%





DLF1








q1





r








DLF








SLF








ir%





QLF





r1





q





r








r1





ID








I1





Ig





I





q





S$





D$








ir%





Q$





r








BUY


→





r1








q1





S$1





r








D$








ir%





Q$





q





S$





q1





r1








SELL


←





S$1





r








D$








ir%





Q$





q





S$





D$








ir%





Q$





r1








q1





S$1





q





BUY


→





S$





r








→





r








r1





q





q1





SLF1








DLF








SLF








QLF





PL





Yf





AD





SRAS





GDPr





LRAS





P





Yf





LRAS





PL





GDPr





P





SRAS





AD





Y





Yf





LRAS





GDPr





PL





P





SRAS





Y





AD





SRAS





LRAS





PL





GDPr





AD1





Yf





AD2





P2





P1





Y





P1





P2





AD





SRAS2





SRAS1





Yf





LRAS





PL





GDPr





Y





P2





P1





Y





AD1





AD2





Yf





SRAS





LRAS





PL





GDPr





P1





P2





Y





AD





SRAS1





SRAS2





LRAS





PL





GDPr





Yf





π%





SRPC





u%





LRPC





π





un%





π2





π1





π1





A





π%





LRPC





u%





π%





un%





SRPC1





π2





B





A





π%





un%





SRPC1





LRPC





u%		





C





SRPC2





un%





LRPC





u%





π2





π1





π1





A





π%





LRPC





u%





π%





un%





SRPC1





B





π2





A





π%





un%





SRPC1





LRPC





u%		





C





SRPC2





un%





LRPC





u%





Y





AD1





P2





Yf





AD2





SRAS





LRAS





PL





GDPr





P1





u2





u1





π2





π1





SRPC





π%





u%





π%





PL





Yf





Y





SRAS





AD1





AD2





P2





P1





LRAS





GDPr





u2





u1





π2





π1





SRPC





u%





P1





Yf





SRAS1





LRAS





PL





GDPr





P2





SRAS2





Y





un%





u





SRPC2





SRPC1





LRPC





π1





π2





π%





u%





SRAS2





Y





P1





Yf





AD





SRAS1





LRAS





PL





GDPr





P2





SRPC2





SRPC1





LRPC





π%





u%





un%








